IC312 Quiz #4
Name: _Solution______________________

1.
Add the following keys to an initially empty binary search tree in the order listed: 

32, 28, 19, 56, 60, 44, 24
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2.
The following entries are inserted into a binary search tree in the order listed: 


15, 24, 64, 37, 125, 9, 17, 56, 11, 7, 28, 91, 35, 15, 36, 23, 87, 1, 77, 13, 55, 22, 43, 19, 37, 99, 81 

The method rightMost(), when applied to a binary tree, returns the right most element in the tree.  Which entry is returned by rightMost() for the binary search tree above? 


rightMost() will return the element with the largest key, in this case it is 125
3.  Given the following binary search tree, redraw it after deleting 73.  Use rightMostLeft() for any swapping you may need to do.
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